
		

	 BELGISCHE	IMPORT	 BELGISCHE	EXPORT	
VOORDEEL		
NADEEL	

RISICO	
daling	$	van	€	1,10	naar	€	1,00	
→	je	betaalt	meer	€	voor	$	

RISICO-INDEKKING 	
	stijging	$	van	€	1,10	naar		€	1,20	
→	je	betaalt	minder	€	voor	$	

RISICO	
stijging	$	van	€	1,10	naar		€	1,20	
   →	je	krijgt	minder	€	voor	$	

RISICO-INDEKKING	
	daling	$	van	€	1,10	naar	€	1,00	
	→	je	krijgt	meer	€	voor	$	

PROCES	
	
koers:		
1$=	€1,10	

1. Klant	koopt	100.000	$	bij	bank	
2. Bank	betaalt	€	110.000	voor	100.000	$	

	
Bank	heeft	€	van	klant	nog	niet!!!	
3. Rentelast:	bank	leent	€	om	$	te	kunnen	kopen	tegen	3%	
4. Renteopbrengst:	bank	belegt	aangekochte	$	tegen	5%	

→	per	gekochte	$	wint	de	bank	2%	
	

5. DISAGIO	(korting):	
contantkoers	$/€1,10		*	(5%-3%)	*	#dagen/360	

6. TERMIJNKOERS:	
contantkoers	$/€1,10	-	disagio	$/€0,0055=	$/€	1,0945	

	
											Termijnkoers	<	contantkoers		
											want	i	$	(renteopbrengst)	>	i	€	(rentelast)	
	
7. Klant	betaalt	de	bank	€	109.450	voor	100.000	$	
8. Bank	gebruikt	€	109.450	om	lening	terug	te	betalen.	

	

1. Klant	verkoopt	100.000	$	aan	bank	
2. Bank	ontvangt	€	110.000	tegen	100.000	$	

	
Bank	heeft	$	van	klant	nog	niet!!!	
3. Renteopbrengst:	bank	belegt	aangekochte	€	tegen	3%	
4. Rentelast:	bank	leent	verkochte	$	tegen	5%	

→ 	per	verkochte	$	verliest	de	bank	2%	
	

5. DISAGIO	(korting):		
contantkoers	$/€1,10	*	verschil	%	(5%-3%)	*	#dagen/360	

6. TERMIJNKOERS:	
contantkoers	$/€1,10	-	disagio	$/€0,0055		=	$/€	1,0945	

	
												Termijnkoers	<	contantkoers	
												want	i	$	(rentelast)	>	i	€	(renteopbrengst)		
	
7. Klant	betaalt	bank	100.000	$	voor	€	109.450	
8. Bank	gebruikt	100.000	$	om	lening	terug	te	betalen.	

RESULTAAT	 Klant	betaalt	ipv	€110.000	maar	109.450	€	
→	€	110.000	–	€	109.450	
→	0,0055	(disagio)	*	100.000	
=	€	550	winst					→				IN	VOORDEEL	IMPORTEUR	

Klant	ontvangt	ipv	€	110.000	maar	€	109.450	
→	€	109.450	-	€	110.00	
→	0,0055	(disagio)	*	100.000	
=	€	550	verlies					→					IN	NADEEL	EXPORTEUR	

SITUATIES	
	
koers:		
1$=	€1,10	

1	$	=	1,20	€	
→	€	120.000	-	€	109.450	=	€	10.550	winst	
	
1	$	=	€	1,00	
→	€	100.000	-	€	109.450	=	€	9.450	verlies	

1$	=	€	1,20	
→	€	109.450	-	€	120.000	=	€	10.550	verlies	
	
1$	=	€	1,00	
→	€	109.450	-	€	100.000	=	€	9450	winst	


